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MAC 2233 Exam 1 Part 1

You are not permitted to use a calculator for this portion of the exam.  When you have finished answering these questions, hand in this sheet to obtain the second portion of the exam.  You must provide complete answers to the questions.  Correct answers without supporting work will receive minimal credit.

1.  Given 
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2.  Find the slope of the line between the points 
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 (i.e., what is the formula for slope?). 

3.  What is the slope of the line 
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4.  Find the x-coordinate of the vertex of the parabola 
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5.  Find the zeros of the function 
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 (i.e., what is the quadratic formula?).

6.  What is the formula for the difference quotient (i.e., the slope of the secant line or the average rate of change of a function f)?
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7.  Given the graph below of a function f, find 
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8.  Sketch the graph of the function 
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9.  Rewrite in logarithmic form:  
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Use the graph below to find the requested limits in problems 10-13 (2 points each).


10.  
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13.  
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14.  Is the graph pictured above continuous on its domain?  If not, explain why.

15.  Find 
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16.  Find 
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Name_______________

MAC 2233 Exam 1 Part II

For this portion of the exam, you are permitted to use a graphing calculator.  You must answer each question completely.  Correct answers without supporting work will receive minimal credit.

1.  Given 
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2.  Find an equation of the line that passes through the points 
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3.  Find an equation of the line through 
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4.  A veterinarian charged one farmer $1,720 to vaccinate 200 head of cattle and charged a second farmer $2,680 to vaccinate 320 head of cattle.  Give the cost function for vaccinating x cattle.

5.  A toy store must pay $12.60 each for a popular computer game.  The store’s monthly fixed cost associated with this game is $750.  The store can sell one of these games for $16.  What is the break-even point?
6.  Find the exponential regression curve through the points 
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.  Round your coefficients to three decimals.
7.  Some time ago, you formulated the following linear model of demand:  
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, where q is the monthly demand for OHaganBooks.com’s online novels at a price of p dollars per novel.  Author royalties and copyright fees cost the company an average of $4 per novel, and the monthly cost of operating and maintaining the oline publishing service amounts to $900 per month.  Determine the unit price you should charge for a maximum monthly profit.
8.  If $1500 is invested at a 5.7% interest rate compounded continuously, how much will be in the account after a 12-year period?
9.  Find an exponential function that passes through the points 
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10.  Solve for x:  
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11.  How long, to the nearest year, will it take for $2000 invested at 4%, compounded monthly, to reach $3000.
12.  Find 
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13.  Find 
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14.  Find 
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15.  Use the difference quotient to determine the average rate of change of 
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